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QUESTION 1

Referring to the exhibit, ServerA sends a single IP packet destined to 10.0.0.127. 

Which two statements correctly describe the behavior of the resulting outbound VXLAN packets that contain the original
packet destined to 10.0.0.127? (Choosetwo.) 

A. Router E will replicate and send a copy of the received VXLAN packet to router D. 

B. Router C will send a VXLAN packet destined only to router D and router E. 

C. Router D will not replicate and send a copy of the received VXLAN packet to routerE. 

D. Router C will send a single VXLAN packet to one remote VTEP. 

Correct Answer: AD 

 

QUESTION 2

You are asked to establish interface level authentication for users connecting to your network. You must ensure that
only corporate devices, identified by MAC addresses, are allowed to connect and authenticate. Authentication must be
handled by a centralized server to increase scalability. 
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Which authentication method would satisfy this requirement? 

A. MAC RADIUS 

B. captive portal 

C. 802.1X with single-secure supplicant mode 

D. 802.1X with multiple supplicant mode 

Correct Answer: A 

https://www.juniper.net/documentation/us/en/software/junos/user-access/topics/topic-map/mac-radius-authentication-
switching-devices.html 

You can configure MAC RADIUS authentication on an interface that also allows 802.1X authentication, or you can
configure either authentication method alone. 

If both MAC RADIUS and 802.1X authentication are enabled on the interface, the switch first sends the host three
EAPoL requests to the host. If there is no response from the host, the switch sends the host\\'s MAC address to the
RADIUS server to check whether it is a permitted MAC address. If the MAC address is configured as permitted on the
RADIUS server, the RADIUS server sends a message to the switch that the MAC address is a permitted address, and
the switch opens LAN access to the nonresponsive host on the interface to which it is connected. 

 

QUESTION 3

Your organization has recently acquired another company. You must carry all of the company\\'s existing VLANsacross
the corporate backbone to the existing branch locations without changing addressing and with minimal configuration.
Which technology will accomplish this task? 

A. Q-in-Q all-in-one bundling 

B. PVLAN isolated VLAN 

C. MVRP registration normal 

D. EVPN-VXLAN anycast gateway 

Correct Answer: A 

 

QUESTION 4

Which two statements are correct regarding the behavior shown in the exhibit? (Choosetwo.) 
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A. The ge-1/1/0 interface is configured as secondary for Area 0. 

B. The router is an ABR. 

C. The router is not an ABR. 

D. The ge-1/1/0 interface is configured as secondary for Area 100. 

Correct Answer: BD 

 

QUESTION 5

Referring to the exhibit, how will router E quickly learn that the remote MAC addresses are no longer reachable through
the router attached to the failed link? 

A. Router E receives Type 2 withdrawal messages from router D. 

B. Router E receives Type 1 withdrawal messages from router D. 

C. Router E receives Type 1 withdrawal messages from router C. 

D. Router E receives Type 2 withdrawal messages from router C. 

Correct Answer: B 

JN0-649 Practice Test | JN0-649 Study Guide | JN0-649 Braindumps                                4 / 5

https://www.geekcert.com/jn0-649.html
https://www.geekcert.com/jn0-649.html
https://www.geekcert.com/jn0-649.html


https://www.geekcert.com/jn0-649.html
2024 Latest geekcert JN0-649 PDF and VCE dumps Download

JN0-649 Practice Test JN0-649 Study Guide JN0-649 Braindumps

Powered by TCPDF (www.tcpdf.org)

JN0-649 Practice Test | JN0-649 Study Guide | JN0-649 Braindumps                                5 / 5

https://www.geekcert.com/jn0-649.html
https://www.geekcert.com/jn0-649.html
https://www.geekcert.com/jn0-649.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-649.html
https://www.geekcert.com/jn0-649.html
https://www.geekcert.com/jn0-649.html

